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wheRial & fere e e -
- GENERAL INSTRUCTIONS TO THE EXA

(1) wdemedf SERRL ?ﬂtﬁw %an hﬁ éa‘[gglaﬂ fad |

Candidate must write first his / her Roll No. on the question paper compulsorily.

| | (
2) usft e AR E | | | é

- All the questions are compulsory.

3) gﬁ%mmmﬁﬁm'—ﬁmﬁﬁf%@ I

Write the answer to each question in the given answer-book only.
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(4)

(5)

(6)

$S-3

N,

2
o oot ST @Y &, 39 w9l % 3w T & o |

For questions having more than one part, the answers to those parts are to be

written together in continuity.

T % femal o S wen § foreft wepm <t gfe / atat/ o g w fed

W91 % 9 1 B JaEl M |

If there is any error / difference / contradiction in Hindi & English versions of

the question paper, the question of the Hindi version Sh(ll%l%be treated valid.
’ 0 A

(i) I TH-TA 3 WUl fowea & — A e_,ﬁ;,a [

(i) @ve ‘3 wfl TEi % ferg aqﬁmff% 1 |

(iif) @S T % G T &, e v H A e § | ofvareff 1 feRelt O T o
TTdl 9l Bl T BEATE |

(i) This question paper contains two Sections — A and B.

(ii) Section ‘A’ is compulsory for all candidates.

(iii) Section ‘B’ has two portions. Every portion has a set of seven questions.

Candidate can attempt only a set of seven questions of any one portion.
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(7) WUE YW & 3% IF I
A 1 (itox) 1
2-8 1
' 9-15 2
16-18 4
o, 19 5
20-21 6
. El 22 - 24 1
f 25 2
. & 26 4
'] ' 27 5
| 28 6
; YT
22 - 24 1
25 2
26 4
27 5
28 6
Section Q. Nos. Marks per
question
A 1 (itox) 1 ?%
2-8 Yy u:-
96;;1;? e f@”ﬁ
G B 4
87 5
20-21 6
B 22-24 1
25 2
26 4
27 5
28 6
OR
22-24 1
25 . 2
26 4
27 5
28 6

(8) S T 20 9 21 (TUS-3) T 28 (WoE-) H 3Trafies foerew § |
There are internal choices in Q. No. 20 and 21 (Section-A) and Q. No. 28
(Section-B).
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GUE — 37
SECTION — A '

. g T

Multiple Choice Questions :

(i) wTSIe HeE % 31T B WEeR St Ei

(31) = H waE T (%) =Hem

@) ¥ (@) Yoft v arE W

In the absence of Partnership deed, partners are entitled to -

(A) Equal share in profit (B) Commission .

(C) Salary (D) Interest on Capital and Drawings
(ii) HTHIET T g B |

(31) difira (F) Irffim

(@) et st e R () e g A

Liability of Partner is o \

(A) Limited

(B) Unlimited

(C) Determined by Partnership Act
(D) Determined by. Court

(iii) u%maaﬁgz:ﬁaiamaﬁm%r%ﬁm@mﬁmma;

& | 9 T | 4/20 NPT T IFY & 1/20 Wy

fervTor 1 & . ¥ BT T

(F) 4:11:5 @ 7:8:5

@ 6:9:5 ® 8:7.s

Rakesh and Anoop are partners in the ratio .

in the firm for 1/4" share of profits. He Obt;)iflsz 4 /30‘3

and 1/20* part from Anoop. The ne : part fr

be : P P W Profit shar Ing rat

(A) 4:11:5 B). 785

(C) 6:9:5 D) 8:7:5
_Accountancy

. 1x10=10

(NS EN e

hey admit Mishy,

Pt Irom Rakesh
10 of partners will

N




S

(iv) b %4 ¥ fafefsa goft € 2,50,000 8 | A= S 6 € 10% 2 | B w5

(v)

§S-30- Accountancy

e @4 % 32,000 & (3 2,000 STETHI BT % Tvama) | e o % o= T
% S AT T g B -

(31) <21,000 (¥) 90,000

(&) 27,000 (@) T 1,02,000

Capital invested in a firm is ¥ 2,50,000. Normal rate of return is 10%.
Average profits of the firm are ¥ 32,000 (after an abnormal loss of
< 2,000). Value of goodwill at three times the super profits will be :

(A) % 21,000 | (B) 90,000
(C) % 27,000 (D) % 1,02,000

LMAUTN3:2: 1 HHEER & | M %H & 37911 Tg0 ST =Tedl & | 59

ﬁ.ﬁ;@gqq@mww?nooom |Lﬂ%ﬂ‘cﬁrw3ﬁ¢m7 3%
gﬁu@mwmmwﬁm @

(31) L ¥ 24,000, ﬂgaﬁ 000 NZ 1)2 000
(¥) L 36,000, M 24,000, N 12,000
@) LT 54,000, N3 18,000
(@ L Z50,400, N3 21,600

L, M and N are partners in 3 : 2 : 1. M wants to retire from the firm. The
profit on revaluation on that date was ¥ 72,000. New ratio of L and N is
7 : 3. Profit on revaluation will be distributed as -

(A) L 24,000, M % 36,000, N % 12,000
B) L Z 36,000, M3 24,000, N % 12,000
(C) L% 54,000, N3 18,000
(D) L 50,400, N 21,600

1
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(vi) afg % 10 Frel 371 20% Shftrerm o Frifira fomem sman @ <t 3fw w1 Frtr gem

(31) %8 (®) 10
@ T2 (@ 12
If a share of T 10 is issued at 20% premium then issue price of share will .
be :
(A) T8 (B) T10
,. (C) %2 (D) %12 1
] 4 | - '
(vii) SFEt 3R 9O e O T < ], 5 -
(37) 3ifeha o W (¥) INRYed |
@ T = (3) HI T W
Company pays interest on its fully paid debentures at their :
(A) On Face Price (B) On Market Price
(C) On Issued Price (D),i;l?_?_l)}niPurchase Price 1
hY -
(Viii)mﬁﬁmm%@ﬁ%ﬁégﬁﬁ#@ﬁﬁwwmm (ST)
_@I"'IT : !
3 x . ‘.
(37) TE-WIRHE! G (¥) EgH 9% @
(|) HEH ATeE Wl (@) THER @
By co-ventures his share of capital deposited into Joi -
A credited R e Joint Banlk Al wil be
(A) Co-Ventures A/c (B) Joint Bank A/c
(C) Joint Venture A/c (D) Creditors A/c
1
(ix) HgF ATEE GraT ISTE 2 :
(1) ArEferes @Al (%) Suformrd @y
(®) S @rdn () mgqﬁﬁgqﬁ.gq_@ '
Joint Venture Account is an example of -
2
(A) Real Alc (B) Persong] Ale
C) Nominal A/c D
(C) (D) Nong of the above 1

g5.30-Accountan
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(x) WA T % 2000 FEE ¥ ¥ 100 W Tew s == =re a9 3 fow
ST BT | 40 HEEAT 3 TG qY BT ST ==l N 20 HE= T 3v7er a9

arfim =1 fean | wife o T @ o fears o areh 5= 6 af A
(31) ¥1,98,000 () 2,06,000
@) T 1,94,000 (@ ¥ 2,00,000

Bagaria Club annual subscription for current year was received from
2000 members at ¥ 100 per member. 40 members paid outstanding
subscription of the last year and 20 members paid subscription in

advance for the next year. In the receipt and payment account the amount
of subscription shown will be :

(A) ¥ 1,98,000 (B) ¥2,06,000
(C) % 1,94,000 (D) ¥2,00,000

ST HEAT 2 H 6 T S % I U YIse / W iR 3 AR

Answer the questions from 2 to 6 in one word / one sentence : , 1x5=
BRI o AT <h! TTUHT 61 G ferfgu | Y @%
Write a formula to calculate of g@igg{ggéﬁbi: b _

g‘%{_—‘} 'i b

ST T ) T W F 21 T 1 T ) 0 v ) P 3
fafau |

Write any two name of methods of payment of amount due to retiring partner.

STqfad=ia o 9 9T TN R 7

What is meant by non-convertible debentures ?

mﬁ@%m%ﬁww%@ﬁﬂmﬂm%ﬁaw%mﬁ
T 1 GehaT § |

Write the name given to the “Part of Capital’ of a company which is called up
only on winding up.

5

1
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6. E HTEd H orgl % 1Y ke JUT ¥ TG JEh T 31 AT R 7

When is it appropriate to keep separate books in joint venture ?

T = =1 gfd o - T 79 8
Fill in the blanks : Q. 7 & 8.
7. EEd G| | e -1 i fareH BT |

Distribution of Profit & Loss in joint venture is

8, NA-=ENEHETH _ W? |

Income and Expenditure Account is a Account.

9. feforp e Afirem B R 1,00,000 3K T 50,000 Y Gefi ey 7 20,0

1x2=2

000 HT=y

m%wm‘émﬁﬁmﬁmﬁﬁlm%@%mmﬁm%m

1 srarer fem | foreet o fodt 61 Gt 26 w93 2 65,000 Ty 2 | Bt <y
ER &1 7o i |

Ritika and Yogita are partners with capltﬂl of ¥ 1,00,000
respectively and general reserve ¥ 20,0007 They admitted Sj
with 1/4% share of firm’s profit, Slmple brings % 65,000 a5 hi
Calculate the value of hidden goodwill of firm,

and
mple as

10, X, Y9aZUr®AH2:2: 1%ﬁwﬁw®m%ﬁqﬁ

T< 'fg

3 50,000
a partner

S share of capital.

Teieh

s Al § 1 Y 1 01510-2020 1 7o B 7 i ey m?;iﬂqﬁ.—ﬁ
wﬁﬁ%wmmﬁwﬁ@ﬁsﬁ%mm‘g“{mm@mw
SR | faser 5 a9l o1 A /BT 2 | _ W e

i - 3ia | 31ue mm
2016 2017 2018 19| 314
ant/ef— 280,000 | Z(50,000) W?lloom ?91020
T ,000

36k @ o TR ol TR e,
y &l 3 TP %aﬁtﬁﬁawﬁﬁgml
s5.30-Accoun ™
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X, Y and Z are partners in a firm in 2 : 2 : 1 ratio whose books are closed on
March 31% each year. Y died on 01-10-2020 and according to the agreement,
the share of profits of a deceased partner upto date of death is to be calculated
on the basis the average profits for the last five years. The Profit/Loss for the
last 5 years have been.

Year — 31 March | 31 March | 31 March| 31 March | 31 March
2016 2017 2018 2019 2020
Profit / Loss — | ¥ 80,000 < (50,000) | ¥ 70,000 | ¥ 1,10,000 | T 90,000
Loss

Calculate Y’s share of the profits upto the date of death and pass necessary

journal entry. 1+1)=2 [
11. @rgaren fafide 3 o= S @ T 8,00,000 %1 0 foran aen wwurfedss wfagf & =g
T % 12,00,000 3 7% A S % ITH W | @igaTen feities i geaeni 3 o g
T o T @ TrefRa sHe sfafe @fw | afe swoEt & i o afafy &
ST 2 |
Khatuwala Limited took a loan of ¥ 8,00,000 freni} % Bank and put 7%
Debentures of < 12,00,000 to the bankas cc?ﬁat@ﬁa security. Give journal
entry regarding loan and issug r;@f"‘\df:bentures in the books of Khatuwala
Limited. If entry has passe@r the, 1s‘§ue of debentures. 1+1)=2
12. Ty qTEd Td HIHER H s =R it fafav |
Write any four differences between Joint Venture and Partnership. 2
13, frefafed E-509 @A U1 3= GEAI3T § AEIUG e <l SIS T STae
Qe ST |
Dr. HAE-=97 @rdr (31-3-2020) Cr.
iy iy
=g
3 o 3
ELE 8,000 | foRrT (1 |TE hT ShTAT) 4,800
fgTo =4 10,400 | == 23,000
U1 T WA 6,000 | T 12,000
gl WAEIEE | 4,000
T4 11,400
39,800 . 39.800]
»300
| et 2019 1 TS T T 44,000 21 | 31 1 2020 W
=1 T 3,000
e gdex e % 2,000 2 |

SS-30-Accountancy
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Prepare Receipts and Payments Account of Laxmangarh Club from the

following Income and Expenditure Account and other informations.

Dr. Income and Expenditure A/c (31-3-2020) Cr.
Expenditure Am;unt Income Amgunt
To Salary 8,000 | By Rent (Accrued for 4,800
1 month)
To Advertisement Exp. 10,400 | By Subscription 23.000
To Printing & Stationery 6,000 | By Donation 12.000
To Depreciation on 4,000
Books
To Surplus 11,400
st > i ‘\ ) 39,800
Cash balance on 1** April 2019 was ¥ 44,000-._-‘,@11 31 March 2020 unearn q
b &

subscription is ¥ 3,000 and prepaid salary is % 2,000,

ﬁw%%anﬁaﬁm-mwﬁqéﬁéﬁ%f@m

& $IY
A HIY

EEE RIS

T W

<2,00,000
< 1,60,000
< 1,60,000
< 1,70,000

Write the following items in Income and Expendityre A '
CCount and in B
alance

Sheet.
Building Funds
Sports Funds

Expenses on Building

Expenses on Sports

g-Accountan<

< 2,00,000
X 1,60,000
< 1,60,000
< 1,70,000
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5. TrREdt o bt freferfd gemet & o 2019-2020 % fore == & a1 fmm gu e
AR R | =Tey a9 # ST =T % 75,000, T 9§ 6 37§ S e 3 6,000, =Te].
a&%mﬁwﬁaw?7,500,%6&&%11@3&%@%%?4,500,ﬁ1i13ﬁﬁ
T <1 31 AT =17 < 3,000 |

From the following informations of Gayatri Club, prepare statement showing
income from subscription for the year 2019-2020.

Subscriptions received during the current year ¥ 75,000, subscription accrued
at the end of the last year ¥ 6,000, subscription accrued at the end of the
current year I 7,500, subscription received in last year for the current year
< 4,500, subscription received in current year for the next.year ¥ 3,000. 2

16. ORI TRITGSIY 2 : 1 5 33T & Toh il f |reier & | e im0 v el & fomo
TSIER ST T % 80,000 = o1 Y et & i | IR e Rk o e
gl & @ fauE sgTa # A afed o g @ Y 9 2019-2020 F
% 2,80,000 ST AH HHT | TRUA T@&%%‘%Iwgﬁﬁ?ﬁmm

Ganesh and Pujari are partners in a firm in the ratio of 2 : 1. They decided to

admit Vipin with %" share in profits with a guaranteed amount of ¥ 80,000.
They decided that the profit sharing ratio between Ganesh and Pujari will not
change. The firm earned profits of ¥ 2,80,000 for the year 2019-2020.
Guarantee is provided only by Ganesh. Prepare Profit and Loss Appropriation
Account and find out new ratio of all partners. 4

17. &t 01-04-2018 i ITHTI TEY HIA & | I6h AR Toft @ 1 shfe 3y 3
1,50,000 2, et spra & we atfien forel § T R, T8 W 10% i vy
ST T oY G R | et T 0 @I S |
Lavi retires on 01-04-2018. His adjusted Capital Account shows g credit

balance of T 1,50,000 and is to be paid in two equal annual instalments along
with interest @ 10% P.A. Prepare Lavi’s Loan Account. 4

SS-30-Accountancy [ Turn over
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ST~ ST T TS 3770~ Tl & hrg =1 e fefe |

Write any four differences between Receipts & Payments account and Income
& Expenditure account.

o, TE YA S 3T - 3T quﬁﬁw%éﬁwmmé,wwﬁﬁaw
@mmﬁwmmWé?Z,O0,000éﬂwméﬁﬁGﬁ
% 1,60,000 g fohedt 7 3T T 40,000 et <6 ot et aiwit # 7 2y | 381
ﬁiso,oooamgﬁa’irno,oooé’aﬁamm|m3rﬁmz3-2aqgmaﬁ
st d |é§aﬂm%%ﬁ‘qWﬁ-WW?so,ooo,mﬁeﬁ@ﬁa
?60,000,%%\‘:3&?1%@?24=000,aﬁaﬁmmﬂma
Z 8,000, GAIET 7 3794 =i 9 |l § 2 5,000 |

ek R ELE R TR —
T | ;3 W A el A 760 9192 36,000 % 2 o
q;a;ﬁgéamﬁﬁ%é,oooﬁﬁmlégﬁmé@mmal

e
Gl 1 3%

Yatendra ar‘xd Sunil doing bPSiHESS Separately as  buildip
undertake jointly to construct-a-building for newly started joint
for a contract price of ¥ .2,00,000 payable ¥ 1,60,000 by inst
and ¥ 40,000 in fully paid shares of the company. A Joint
opened in Bank of Baroda and all cash transactiopg are reco
bank. Yatendra and Sunil deposited ¥ 50,000 ang = 30
respectively. They share profit or loss in the proportioy of 3.2 .
The transactions of. joint venture were as follows _ Wages'p _respectlvely.
Purchases of material ¥ 60,000, Sundry Expenseg Paid 3 24 (;1(1)3 ?YS?’OSO’
VWU, Yatendra

gave material from his stock ¥ 8,000, Sunil gaye Mater:
; t .
gty ®nial from his stock

g contractors
stock company
alments in cash
Bank account is
rded through the
000 in the bank

The contract was completed and the contract price v
The Joint Venture was terminated. Yatendra took all the Shas duly received.
company at price of % 36,000 and Sunil took the iy are of joint stock
of T 6,000. Prepare Joint Venture Account, & stock of material

cc@untancy
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Eﬁ*‘»’l’(% s
i fger (31 W= 2020 1)
i PP oY s e
Seb /0T 36,000 | Ths 30,000
FER 64,400 | ferfeamm 50,000
it @t TR 1,60,000
Tt 1,70,000 Wi 1,00,000
tcil 1,10,000 | 2,80,000 | BHT=R 40,000 ‘
3,80,000 3,80,000
Se21Y 1 T8 2020 i AT Y T Ireil R AR ST :
(i) et w1 g 20% & H fhen s |
(i) fafrnmi w1 g 2 10, 000/- & wrET I/ |
(iii) QWEFEIHTIO%@EI@WW FHISH SR E
(iv) T %1 Hed 15% ¥ S 91 | P o
(v) amfee? 1,40 ooov&sﬁmg@o,\omm%ma@maﬁmﬁwﬁﬁ 13
foren e T | U 4TS ’ﬁ@ﬁ%mmwﬁmﬁaﬁﬁ

Tohe ST 31T FhTerR |
g#@m@m,a@mﬁ%rﬁﬁ@%wqiﬁwﬁww@l

315t March 2020 is as follows :
Balance Sheet as on 31 March 2020

Qwati and Rini are partners in a firm in equal ratio. Their Balance Sheet as on

Liabilities Am;unt
Bank Loan 36,000
Creditors 64,000
Capital A/c
Swati  1,70,000
Rini 1,10,000 | 2,80,000
s 3,80,000

SS-30-Accountancy

Assets Am;unt
Cash 30,000
[nvestment 50,000
Debtors 1,60,000
Stock 1,00,000
Furniture 40,000

3,830,000

[ Turn over
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On 1* April 2020 they admit Aditya into Partnership on thel following terms :
(i) Decrease the value of furniture by 20%.

(ii) Increase the value of Investment by ¥ 10,000/-

(iii) Create Provision for bad debts at 10% on debtors.

(iv) The value of stock to be increased by 15% .

(v) Aditya shall bring ¥ 1,40,000 as capital and ¥ 20,000 for goodwill in
cash and his share in Profit will be 1/3". The capital of old partners are
also to be adjusted accordingly, brings or withdrawals in. cash.

Prepare Revaluation Account, Partners’ Capital Account and Balance
Sheet of the new firm.

3¥ET/OR
Th HH H eflUT, T TS G HAH ATEER & | 31 W 2020 Wi I Rygar fr
T U7 ¢ .
arifefes gt (31 7 2020 1)
TR 72,000 | dFE 9 30,000
-y 36,000 |3 30,000
gsft wrman et 60,000
o 60,000 | s 1,20,000
MY 40,000
ESl 32,000 | 1,32,000
1 L 2,40,000 240000 |

1 3181 2020 Wt weftor & & fney yrdl 9T STeh TET T R

(i) v =t =Tl =61 goor T 60,000 3TTehT 71T |

(i) SRR W 10% Gferer 51 ST s== 9 e | -

(iii) Wik 1 e 5% & A a1 T |

(iv) o 1 qed 25% @ qeRT ™ |

(v) Seltor 1 o7 gl ek K1 WId H SN Y 5y |
e T, SR ol i v P e i

c;(;;-_?,{_ﬂ-ACcOuntancy
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Pravin, Prabhash and Pooja were equal partners in a firm. As on 31 March
2020 their Balance Sheet was as follows :

Balance Sheet as on 315t March 2020

y Liabilities Am;mnt . Assets Am;unt |
Creditors 72,000 | Cash 30,000
Profit & Loss 36,000 | Debtors 30,000
Capital Alc Stock 60,000

Pravin 60,000 Buildings 1,20,000
Prabhash 40,000 '
Pooja 32,000 1,32,000
2,40,000 _ 2,40,000
On 15 April 2020, Pravin retires from the firm on the following terms :
(i) Goodwill of the firm to be valued at 4 60,000. %i
ts is to be made on (}el!fdt;sﬁﬁ '

(i) 10% Provision for doubtful deb ,
o £ . ¥
(iii) The value of stock to be decreased b){ %ﬁf 9\

(iv) The value of buildings to be increas ed:
Pravin should be transferred to his loan account.

(v) Amount payable t0
unt, Partners’ Capital Account and Balance Sheet of

Prepare Revaluation Acco

the new firm.
o,oooanmaisﬁﬁﬁm%m%ﬁ | S AT 10

21 s e A T 10T 40
. o fiy ier st it R, ST o g S st
’ ol - maaqqﬁumfﬁmu%a),mwm,muhmn,m
Uﬁammqgﬁtho,ooowﬁ%mmqamgmmﬁanazﬁaﬁ
3 g7 2000 391 3, T SR 7T F Fe Tt T I

[ Turn over
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The Capital of Bharatia Limited was divided into 4,00,000 equity shares of
T 10 each. The company issued 1,00,000 equity shares of ¥ 10 each at a
premium of ¥ 2 per share, payable per share as follows : On Application ¥ 4
(including premium), on Allotment X 3, on first call ¥ 3 and balance as and
when required. Applications were received for 80,000 shares. Allotment was
made to the all applicants. Ayushi holds 2000 shares has paid all the amount *®
along with first call. Divyam holds 1000 shares failed to pay first call. |

Give journal entries in the books of Bharatia Limited. 6

FYET/OR

ew fafire 3 2 100 ATt 10,000 9% o 10% w2 W Frifea 73, T\ w afn
=g Wt 29 ft ; 3T W T 30, ¥ W T 40 TUT I TR YH T IferH 7w
2 | T HOTET 3 Y STTEE UTwd BU qYT S foRaT T | HHEd TRET wH o
T & 7, ﬁ#awcmowaa@w% e se qun wem F 3| |1 w6
YT el R |

W%ﬁ%@ﬁgﬁﬂﬁﬁmaﬁaﬁ@mml

Mukesh Limited issued 10,000 9% debentures of ¥ 100 each at a discount of
10% on which amount was payapl.,e as follows : on Application ¥ 30, on
Allotment % 40 and balance amount due on first and final call. Applications 2
were received for whole of thé debentures and were alloted. All the amount ’

was received in time exéépt one debenture holder who hold 400 debentures
did not pay allotment and the first and final call.
Give necessary Joumal entries in the books of Mukesh Limited. 6

g - §
SECTION - B
99, s arfafEm, 2013 % srgan facd faewl % o R @ § -+ mie fr
R E 7 haet i & T ey | '

As per Companies Act, 2013 what are included in a full set of financial
statements ? Write any two names only. y

Write @ formula of dividend pay-out ratio. .

SS-BO—Accounta ney
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25,

Fill in the blanks :

e S ST TG =T

The Ideal current ratio of a Company is

ﬁﬁm@mﬁamﬂwaﬁm

ICELU

———

e § 3

I ——_
I A

(-

T |
frouft 4.

FLH X

$8-30-Accountancy

From the following info

Loss.
Amount

% 2,50, 000, T

ParticularS

rations

26 ﬁmqﬁf@lﬁ‘ -

aﬁﬁa?Z

ent and

Calculate CH0 .00 0 Current Liabili

Stock T 2,9

17

g |

Tf

31 9= 2019
4

5,00,000

2,40,000

30%

‘ 4P

rmatlons= prepﬁe common size

31 March
4

| ———

—

30%

Liquid

]

-
5,00,000

2,40,000

T HitT |

TR

31 T 2020
4

6,00,000

Amount

2019
i

31 March 2020

statement of Profit &

6,00,000 J

3,60,000

30%

|
|

1 T I | SFER % 25,000, WiH

50,000, it dsht % 7,50,000.

Ratio in following cases. Credi
tors ¥ 25,000,
ities T 2,50,000, Working Capital T 7,50, 000.

[ Turn over
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untaﬂcy
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e Treat 31 9 2021 9 31 7 2020
ﬁ feoquft iy T
. 3197 2021 | 31 37 2020
3 z
[ guarug gt
1. 79Tl o1 iy
(@) FWEh

(i) THaT 379 gt 8,00,000 6,00,000

6,00,000 4,00,000

4,00,000 1,00,000

8 ‘.‘., ’

2,00,000 1,50,000

20,00,000 | 12,50,000

10,80,000 7,20,000

80,000 50,000

8,00,000 4,00,000

40,000 80,000

20,00,000 | 12,50,000
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From the following Balance Sheet, prepare Comparative Balance Sheet of

Bajaj Limited.

Balance Sheet as on 315t March 2021 and 31 March 2020.
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Amount Amount
2 Note
) 31 March 2021 | 31 March 2020.
~ Particulars No.
C 4 4
[ Equity and I iabilitics
1. Shareholders funds
hare Capital
(a) ZPhar cavital 8,00,000 6,00,000
(@) Bauity 5= = 6,00,000 | 4,00,000
) hare Capital »IVs >
.+ Preference S )
(11) jabilities 2 ﬁ:%g
2. Non Current L1201 3
: 000
Long-term Borrowings CoA £ %065 L0
ihis R ﬁ
iabilit1€s g %
3. Current Liab! $ 2,00,000 1,50,000
Trade Payables ;
Total 20,00,000 12,50,000
II.  Assets
I, Non Current ASS® 10,80,000 7,20,000
! ts
Fixed Asse
o N Current [nvestments 80,000 50,000
(b) Non
2. Current A 8,00,000 4,00,000
de ReceivablCs |
(a) Tra J— 40,000 80,000
sh an |
®) o Total 20,00,000 12,50,000
L -

[ Turn over
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"
8,40,000
3,60,000
4,00,000

5,60,000

9,60,000

12,00,000

1,26,000

50%
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Following are the informations given below :

Amount

L4
Equity Share Capital 8,40,000
7 Profit & Loss (Credit) . 3,60,000
10% Debentures ' _ 4,00,000
Current Liabilities 5,60,000
Non Current Assets 9,60,000

_ Current Assets 112,00,000

Net Profit after Interest and Tax . 1,26,000
50%

Rate of Income-tax |
Calculate the following _ratios : %&é
(i) Debt Equity Ratio E

(ii) Proprietory Ratno Ap ,ﬁ&\

r%igeﬁatno _ ,
arwar/OR

ﬁqaﬂqﬁ-ﬁ@ﬂmﬂlﬂﬁmml

(i) af@ g

(ii) afcrer o ST

(iii) e

(iii) Interest Cove

Explai the following ratios with the help of formula.
xplain

(i) quund Ratio

[ Turn over
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24,

25.

26.

27.
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SECTION - B

ST 1 37 TTRaT |

Write the meaning of functions.

Goft wE =T o AT sATS <t o o fore g ferRaw |

Write a formula for calculate of simple interest on capital and loan.

=0 1 foreq d it sa &6 7o =3 5
e o

fimaﬁqmmqmﬁf’ﬂm'
=)

Which function will be used to calculate interest included in instalment of

loan ?

fefiree et =1 qwams 1

Explain Digital Computer.

o §eh 311 Tissfie i UeTsHie Y HeheT 1 AHESY |

Explain Alignment group structure of work book and spread sheet.

repeliehd TG JuITelt sl i3 uie Eenait 1 el i |

Describe any five limitations of Computerized accounting system.

1N
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28. f W fewoft forfiaw

(i) 3Tl TR
| D) AT @ &t =T
A.\ i fergat & |

" ) Write notes on following :

(i) Calculation of Income.
(ii) Preparation of Profit Loss Acco

(iii) Preparation of Balance Sh&z%

| " ;‘z/

| e

ﬁmtsw:r ﬁmmﬁm?ﬁﬁﬂ

A (i) PMT

(i) SLN

(i) DB

Explain the following function with help of éxamples :
i, (i) PMT

(i) SLN

(iiiy DB

53-3_0-Accountancy

Downloaded from www.cclchapter.com




24 | ‘

g5.30-Accomta"!

J""
P‘l —_ Downloaded from www.cclchapter.com
__L _‘.“_ - ’ ’ ——







